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600 AtQi4ol 5,835,029 | 5,800,529 34,500 ([ 100.0% |
610 HALQ 2,022,500 | 1,988,000 34,500 |[ 34.7% ]
611 XpH|AFS S0l 2,022,500 | 1,988,000 34,500
611-01 A 2349 2,022,500 | 1,988,000 34,500
MU LEAREA FEF = 397,000
(Z) 397,000,000 - (7|7&) 230,000,000 = 167,000,000
« 20164 +EIGPEY = = 1,325,500
(Z7) 1,325,500,000 - (7]) 1,458,000,000 = -132,500,000
620 Felol 3,812,529 | 3,812,529 0([65.3%]
621 O|Xj=2l 50,000 63,000 -13,000
621-01 G| 20| X} 50,000 63,000 -13,000
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628 7|EfE 9|42l 13,000 0 13,000
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700 AtYH| 5,831,514 | 5,797,014 34,500 ([ 100.0% ]
710 gYH|2 5,802,514 | 5,768,014 34,500 |[ 99.5% ]
712 o[ H| Qb2 H| 5,531,822 | 5,497,322 34,500 |[[ 94.9% ]
100 9174H| 2,387,000 | 2,382,200 4,800
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(ZH) 2,000,000 - (7]H) 0 = 2,000,000
213 X|2448 70,192 65,392 4,800
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(Z7) 6,000,000 - (7|7%) 1,200,000 = 4,800,000
221 Gip7iLH| | 2,161,459 | 2,147,659 13,800
« £Ef GRZH| [ 677,000 ]
= 677,000
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